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This stage is called as Exploratory stage

1. Pre childhood

2. Late childhood

3. Infancy

4. Adolescence
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Intrinsic motivation among the following
1. Praise

2. Self Satisfaction

3. Punishment

4. Reward
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Operation that takes place in the interactive phase

1. T.L.M preparation

2. Formulating objectives
3. Evaluation
4. Subject explanation
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The ability that is tested through Essay questions

1. Relearning

2. Recall

3. Recognition

4. Recapitulation
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Language development starts with cooings, babblings and
gradually leads to conversations as per the principle

1. Principle of Individual differences
2. Principle of continuing

3. Principle of uniformity of pattern
4. Principle of integration
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The highest level objective of Cognitive domain
1. Knowledge

2 Application
3. Analysis

4 Evaluation
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Teacher acts as a facilitator in

1. Learner Centered Paradigm

2 Teacher Centered Paradigm

3. Subject Centered Paradigm

4. Classroom Centered paradigm
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Concepts cannot be acquired through

1. Memorization

2. Innovation

3. Examples

4. Similarities & differences
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Teacher is explaining about Vegetables by showing them. The
thinking of children at this situation is

1. Imitative thinking

2 Concrete thinking

3. Logical thinking

4. Abstract thinking
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Stimulus acts as a reinforcer in this theory

1. Classical Conditioning

2. Trial and Error learning

3. Operant Conditioning

4. Social Learning
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11.

12.

Guidance which is given when a student is not able to focus on
his studies

l.
2.
3.
4.

Personal guidance
Educational guidance
Vocational guidance

Transformational guidance
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Find out the wrong statement

1.
2.

4,

Physical Development is very rapid at Infancy

Development of intelligence comes under Moral
development

Emotional development depends on learning &
Maturation

3 — 4 years children participate in Social play
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13.

14.

Interpersonal Intelligence is possessed by

l.
2.
3.
4.

Scientists & Engineers
Biologists & Athletes
Philosophers & Artists
Psychologists & Politicians
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Factors needed for riding a bicycle.

l.
2.
3.
4.

W)

Growth & Development
Development & Aptitude
Maturity & Learning
Growth & Interest
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As per this theory a person who can repair a motor car can also
repair a motor boat.

1. Theory of Generalization

2. Theory of Identical elements
3. Theory of Ideals

4. Theory of Transposition
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A condition which sustains the attention of a person for a long
time is called

1. Attitude
2. Memory
3. Aptitude
4. Interest
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17.

18.

19.

Which is not the characteristic of good learning environment.

b=

Pleasant physical amenities
Stimulating Environment
Lack of good social relation among students

Facilities to support learning
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As per NEP — 2020 pattern of education system
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5+3+3+4
3+5+3+4
3+5+5+2
543+5+2

Children do bargaining at this moral stage

1.
2.
3.
4.

Obedience and punishment orientation
Good boy — girl orientation
Self interest orientation

Authority and Social order orientation
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20.

21.

A reading disability

l.
2.
3.
4.

Dysgraphia
Dysphasia
Dyslexia

Dyscalculia
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ICT — mediated teaching learning doesn’t encourages

1. Learning by doing

2. Critical thinking

3. Passive Learning

4. Research & Evaluation Skills
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22.

23.

Popular ICT Platform used for collaborative learning and
document sharing in education

l.
2.
3.
4.

Microsoft Excel
Google Classroom
Adobe Photoshop
AutoCAD
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The condition of being unsatisfaction of motive is called

1. Conflict

2. Maladjustment

3. Anxiety

4. Frustration
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24.

25.

The main objective of RTE ACT - 2009

l.
2.
3.
4.

Providing free textbooks to students
Providing free and compulsory education to children
Promoting private educational institutions

Limiting access to quality education
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As per Philip Arice Childhood is

1
2
3.
4

Natural
Parental Construct
Social Construct

Biological
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26.

27.

As per this perceptual law, we perceive the things that are
identical in Size, Shape, Colour as a group

l.
2.
3.
4.

Law of Continuity
Law of closure
Law of Symmetry

Law of Similarity
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Example of Experiential learning

1.

2.
3.
4.

Rote learning
Learning by hearing
Learning by doing

Learning through discussions
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28.

29.

Objectivity is more in this Method

1. Introspective Method

2. Interview

3. Rating scales

4. Experimental Method
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Persons ‘Ego’ is ruled by

1. Idealistic Principle
2. Realistic Principle
3. Pleasure Principle

4. Psychological Principle
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30.

Author of the book “The Process of Education”
l. W.B. Watson

2 Francis Galton

3. WC. Bagley

4 Jerome Bruner
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61.

62.

63.

64.

Sarath is reading a book right now.

The above sentence is in:

1.

2.
3.
4

the present perfect tense
the past continuous tense
the present continuous tense

the future simple tense

Choose the option that correctly describes how the present
continuous tense is formed.

1.

2.
3.
4

Subject + is + past participle of verb
Subject + are + past participle of verb
Subject + auxiliary verb (is/am/are) + verb (ing form)

Subject + has + verb (present participle)

Choose the grammatically correct sentence from the following.

1.

2.
3.
4

Let the boy to go.
Let the boy go to.
Let the boy go.

Let go the boy to.

Choose the discourse marker that can be used to ask for

clarification.

1. Indeed!

2. Can you explain further?
3. Any way...

4 Firstly...



Choose the correctly punctuated sentence.

1. Have you seen my keys, phone and, wallet?
2 Have you seen my keys, phone, and wallet?
3. Have you seen my keys, phone and wallet

4 Have you seen my keys phone, and wallet?

Choose the correct sequence of the words in which they appear
in the dictionary.

A) describe B)develop C) demonstrate D) demand

B D C A

b=

A B D C
C D B A
D C A B

One of the following is not a linker indicating addition:
1. furthermore

2 instead

3. additionally
4

morcover

Select the following sentence that is a complex sentence:

1. The sun was shining brightly, so we decided to go for a
picnic.
2. She wore her favourite dress, and she felt confident.

We stayed indoors because it was raining heavily.

4. Jack and Jill went up the hill to fetch a pail of water.



69.

70.

71.

72.

He will come to the party he finishes his work.

Choose the correct conjunction to complete the sentence.

1.

2
3.
4

SO
because
until

when

One of the following is not an example of a concrete noun:

1.

2.
3.
4

tree
joy
house

river

Choose the phrasal verb that means ‘to cause something to
happen or occur.’

1.

2
3.
4

look out for
take over
bring about

get away with

Choose the sentence that is appropriate to use when expressing
a fact or providing information.

1.

2.
3.
4

Exclamatory sentence
Declarative sentence
Imperative sentence

Interrogative sentence



73.

74.

75.

76.

“Master, is anything wrong?”” asked the Dog.

Choose the correct indirect speech for the sentence above.

1. The Dog asked his master whether someone was wrong
2 The Dog asked his master was anything wrong.

3. The Dog asked his master if anything was wrong

4 Master asked the Dog if he was wrong.

Nobody  come for the party yet. We’re still waiting.
Choose the correct verb that fits the blank.

1. is

2 have

3. has

4 are

A disease which is spread by direct contact.

Choose the one word substitute for the expression above

1. incurable
2 infectious
3. fatal

4 contagious

Choose the correctly spelt word

1. aironautocal
2 aeronautical
3. aeronatical
4 aironatical



77.

78.

79.

80.

He told me that he knocked loudly on Mr. Nath’s door that
evening.

Choose the synonym of the word ‘knocked’

1.

2.
3.
4

pushed
pulled
banged
pounded

“But the man didn’t go, nor did he stop talking.

Choose the antonym of the word ‘go’

1. stay

2. leave

3. depart

4 move

Children’s are taken into account while designing the

learning curriculum and textbook.

Choose the option that fits in the blank.

1.

2.
3.
4

psychological development and interest
financial status and family background
political status and parental income.

height and weight

The expression ‘Communicative Competence’ is coined by:

1.

2.
3.
4

Harold Palmer
Swain

Hymes

Michel West



The following dictionary best suits at the primary level to
teach English.

1. Advanced Learner’s Dictionary
2 Masters Dictionary

3. Pictorial Dictionary
4

Thesaurus

While teaching a lesson, audio — visual aids must be used.

1. wherever necessary

2 before announcing the topic

3. while students are making a noise
4 after giving the assignment

Read the following passage.

The mountaintop was shrouded in mist, lending an air of
mystery to the rugged landscape. Pine trees stood tall, their
branches swaying gently in the mountain breeze. A solitary
eagle soared overhead, its majestic wings outstretched as it
rode the thermals. In this lofty realm, nature reigned supreme,
untouched by the chaos of the world below.

Select the correct statement based on the passage:

1. The mountaintop was clear, with no mist obscuring the
view.

2. Palm trees lined the mountain slopes, swaying in the
breeze.

The eagle was perched on a rock, not soaring overhead.

4. Nature's beauty was marred by the presence of
pollution.



84.

85.

86.

Read the following passage.

The mountaintop was shrouded in mist, lending an air of
mystery to the rugged landscape. Pine trees stood tall, their
branches swaying gently in the mountain breeze. A solitary
eagle soared overhead, its majestic wings outstretched as it
rode the thermals. In this lofty realm, nature reigned supreme,
untouched by the chaos of the world below.

Choose the correct statement based on the passage:

1. The mountain breeze was harsh and biting.
2. The mountaintop was bustling with activity, filled with
tourists.

The eagle's wings were folded as it rested on a branch.

4. Nature remained untouched by human interference in
the lofty realm.

The following is not an ELT method.
1. The Direct Method

2 The Social Method

3. The Audio — Lingual Method
4 The Silent Way

The following breaks the ice by adding variety to the regular
activities

1. A Language game
2 Idioms and Phrases
3. Proverbs
4

Frequently used words



87.

88.

89.

90.

The player passed the ball the next player.

Change the correct option that fits the blank

1.

2.
3.
4

above off
off onto
upon to

over to

The third conditional is used to talk:

1.

2.
3.
4

about future
about scientific facts
about habitual actions

about hypothetical past situations

Choose the modal verb that is used for making a deduction or
expressing certainty.

1.

2.
3.
4

Can
Shall
Must
Would

One of the following is not an instance where articles are
typically omitted. Identify it.

1.

2.
3.
4

Names of feelings in general sense
Names of academic subjects
Names of villages

Names of rivers



91.

92.

93.

94.

Sum of the place values of 6 in the number 67426.
67426 et6t1m etsvuredilev 6 601 LIDSLIL|S6rfl6dT EUDMSSHLD

l. 60000
2. 60005
3. 60006
4. 60009

LCM of 2x2x3,2x3x3 is
2x2x3,2x3x3 e LS.&.b

l. 36
2. 30
3. 40
4. 20

Which is the identity for the addition of rational numbers.

eBswpm eravnsaflelr salled el

1. 0
2. —1
3. 1
pol
5
100 x /25 =

b=
W
(e



95.

96.

97.

A motorbike travels 220 km with 5 liters of petrol, then the
distance it covers with 3.5 liters of Petrol (in km)

@@ GrLLmT engsdemmeng 5 60lLLT QLLGCTTedled

220 8.5, uwewnd  QFWBDEH  eedfled 3.5 eOliLiT
QW GOedled 6T6l6u6Te)] HMILD LIWI6wTD 6\FUIuLD?(&.L5-60)

1. 66

2. 154
3. 100
4. 220

If the principal is Rs. 1200 then the amount to be paid at the
end of 2 years (in Rs.), at 12% p.a.

Dig6d 51200 6&, UBLSDDS 12% euLly eliggHe0
2 SpeIBSHEHSHS LINGS 61563|55C6u6t0TQUI CIDTSS
6\5Tema (empLIMuied)

l. 288
2. 1200
3. 488
4. 1488

The number of independent measurements required to
construct a quadrilateral uniquely

QRMH HIHSISWS 6EUDIWSH CHEDEUWITETT 6055
Slereyserfleir erevuTev0llSH6ME

l. 4

2. 5
3. 6
4. 3



98.

99.

100.

A triangle with measures of 90°, 60°, 30° is a

l.
2.
3.
4.

90°, 60°, 30° AW GCHMEWIMRIGHEWET 2_6WLUI (LPSHEHTETOTLD
1.

2.
3.
4.

Right angle Triangle
Obtuse angle Triangle
Acute angle Triangle

Reflex angle Triangle

O\ FRIGSHTETIT (P& GSHITETOTLD
efifi@amevor (&GS MevoTLD
SNIRICHTENT (LP&HBSHTETTLD

LNetTEUMETEYEHTET0T (LP&HGSHITETOTLD

Area of rectangle whose sides are 5x and (x + 1)

5x DOHMID (x + 1) & UGS leTeYSHerTns: 6\ M6

C\F6USSHEST LITLILIENTE)

1
2
3.
4

5x* +5x
5x+5x
5x* —5x

5x*

1 hour and 120 seconds in minutes

1 wewfl HMID 120 efevrmesemer, Bl miserfledo LDMHMH
SemLLILIG)

b=

65
62
72
60



101. Standard form of 31860000000
31860000000 er6tTm 6TetoTevvfletT Sl 6uIgeULD
1. 3.186x10"
2 3.186x107"°
3. 318.6x10"
4 318.6x107"°

102. a4’ -b* is equal to

a’—b’ 6@ &WLDNeug)

1. (a+b)
2 (a—b)
3. (a—b)(a+b)
4 (x+a)(a+b)

103. Raju’s age is ‘y’ years. His son’s age is half of the Raju’s age.
Then his son’s age is
omegefledt oUW ‘Y’ ShETTBSH6IT. HeUHEWLW LD&6vfl60T
auwg Somegteiledr euwded LN erevfled SHeurfledr
LD&60TI60T GG

l. 2y

2. 2
2

3. y+2

4. y=2



104. Value of x(x-3)+2 atx=1
x=1eemIb GuMgl x(x—3)+2 65 LDSLIL

1 1

2 2

3. -1

4 0

s, 107,18,

132 132

L o
132

138
132

18
132

Lo
132

106. Each bag has 475 kilo grams of sugar. Quantity of Sugar in 16
bags is (in kilograms)
Q6UEEIN([H 6MLIUTEYLD 475 SBEONBIMDSET F&HSHEWIT
2 eiteng) etevfled 16 emusafleo 2 eiter FigHsemIuledt
Slerre)] ( BCeorHymusled )

l. 500

2. 20000
3. 7600
4. 9000



107.

108.

Half the product of its diagonals of a Quadrilateral represents

l.
2.
3.
4.

Area of cube
Area of trapezium
Area of Circle
Area of Rhombus

QM HIDHSISHEN cpewevsillLmisefledr 6LHS&He0ed LT
eT6TLIS BFHWET GSMHBEDS)

1.
2.
3.
4.

SEEFSHTSHET LITLILIENTE)
gifleussdett LTLILIeTE)
QULLSHEST LITLILIETE)

FMUSSITSSET LITLILIOTE)

Probability of getting an ace card from a well shuffled deck of
52 playing cards?

BTG GSGLILLL 52 S Baemens \smerL &6
sLIe0lBHG R a6 FLewL eBLILSMHSTe BHDSSH6)

1.

1
52

N | — ;|>— S



109. A cricketer scores the following runs in eight innings, then the
Range of the data is

58, 76, 40, 35, 46, 45, 10, 100
om Bsesrdn, a@ Cumieseflsd a@sHS
pULmsefer efleund &6 OSTBSHSLILILBETETE).
Seaueflaunsdett efiga:

58, 76, 40, 35, 46, 45, 10, 100

l. 60
2. 10
3. 100
4. 90

110. Ratioof 5 mto 10 km
5 UL whmib 10 SGeombrLifletr efldgid

1. 1:2

2. 5:10
3. 1:2000
4. 2 :1000



111. If P is Principal, R is Rate of Interest and N is Time Period,
then the formula for the total amount when interest is
compounded annually.

P e6tiLg Siged, R eetiug eulle efigb womid N
eT60TLIg| SHMe0 GBILD eT6ufled SheuTehS 6ULle SHeTTSHSBLD
GUMEl, SpGD 6IDNES EISTEMSHEMUl SHEUTHSBEUSHMSHTET
FSS0D

PNR

100

1.

112. Which is True

1. All squares are rhombuses and also rectangles.
2. All rectangles are squares

3. All kites are thombuses

4. All squares are not parallelograms

SLpSBEVITLEUDNIED 618 6IDUI?

1. 6T6D60I F&HINTHISEBHLD FMLISHTMRISET LDHMILD
6\FEUCUSBIBIGHET D @SLD

2. 6T6D60T E\FEUOUSBIGHEDHLD FHIITHISET SH&SLD

3. 6T6060T LILLTRISEBLD FMLISHITRISET Sh&LD

4, 6T6D60 FHINTHISHEBHLD BEDEVHITHISHET HED6D



113.

114.

Which is not an improper fraction
SLPSHBEVITLEUDNNEO SHSHM LNETEBID H6L6ONSF)

1. 1

11
, U
8
8
11
A

11

Leela is Radha’s younger sister. Leela is l% years younger

than Radha. If Radha’s age is ‘p’ then the Leela’s age (in
years)

edeoreyld Qumaneyd FGHNSMaer. Gungmeneu eflL edeom
lésn@ufﬂassh dnfwevsit. Gumsmefledt euwig ‘p’ eTevfled
ebeomefledr euwig) (6uIHLMIS6r6D)

1. P+%
2. P+1
P-3

3



115. The book written by ancient mathematician
Mahaveeracharyulu

1. Leelavathi Ganitham
2 Ganitha Vahini

3. Ganitha Chandrika
4

Ganitha Sarasamgraham

LIGTOTEMLU! &6V SHeuullgefluleonen T ammeliy Spgamwimt
TS [HITED

1 ebeomeud &evvflFHLd

2. &6001lg  eumanleof]

3. sewlls FhSifsm

4, &6mfls SMIFHISIQMLD

116. The value developed in a student by doing Puzzles, Sudoku,
Riddles and Magic square is

1. Disciplinary value

2 Utilitarian value

3. Cultural value

4 Entertainment value

LB&eT, &8LNG, 6NB&HmSSH6T DOHMID DMLIE F&|ILD
SpBweunemn 6\FWIeUSEDTTE0  LDMETITEUEDfILLD
GLLESSLILIGLD DELIL

1. RUS&S LDSLIL]

2. LIWI6STUM® DL

3. SEOMFSMT LDSLIL

4. OUMWSICUNSS LDSLIL



117.

118.

A teacher uses role play method to teach mathematics in his
class. His aim is

1. Projecting ideas

2 Keeping children busy
3. Maintain Discipline
4

Entertaining children

SWSLILML SWS &DLSs @ Spdflum, Herg
aGLUmDUTed @ GUITEDS [HlieHEHE0 (LPEDMEmLI
LweTLGSSeotit etevfled Steurfledt CBM&SHLD

L dibsemevsenar GeueIlILI(BSS|560

2. LDITEBOTENTSH6IT  E1EUMILDEETT  ZE0EDITLDED
B([HEHHFUIZH6E0

3. RESHSWS BEnevBMISSH6E0

4. LDITEBOTEUTSHEWET LDSDEFIEDLUIF C1FUISH60

A tool helps the teacher in the classroom, to teach the abstract
concepts of mathematics is

1. Play material

2. Study material

3. Teaching Aids

4. Notes

S6Mil5SHS60 2 6TaT HHS SHSHIHEMET DG5S,
aeLiLempuiled SpAflwmee 2 gelyflun sme

1. eflememum @ GWIMHLS6T
2. LIRS0 EITIBHLS6IT
3. SOLNSS60 CIMHL&6IT

4. UML&SMILILS6IT



119.

120.

“In preparing Mathematics curriculum, we should give the
priority to the student’s needs, interests and abilities”.
According to the principles of construction of curriculum, this
statement belongs to which value of the following

1. Disciplinary value
2 Cultural value

3. Utilitarian value
4

Principle of child centeredness

“‘Genflls  HMEOSHL  eueuemDLILIED,  LDTevTEN6DTlEHT
Gzemeus6T, ef[BLILIMIGEIT LDMMILD SMEITSH6IT
SpBweuhnb& wpstren)iflemip GULPMRIGLILIL
GeustoT(BLD” HEWEVSIHL  eulgeuemIDLILIDd  B&HFaDDTENS)

Swdlienu Csbss

1. RUS&S LDSLIL]

2. SHEOMFEMT LDSLIL

3. UwestumL® Camun®

4, GBS enbwl CHMun®

The Evaluation based approach in writing lesson plan was
proposed by

1. D.S. Kothari

2 Herbart

3. Benjamin Blooms
4

Morrison
wHIIG SemiGipennuieonss LM G L rdfenws
2_[heunsdwet
1. D.S. Genggmiil
2. Q\QDITLIMITL
3. 6WIEHFLI6DT  LieTHLDEID

4. GuomrfleroesT



121.

122.

The jelly like substance between nucleus and the cell

membrane is

1.
2.
3.
4.
61560

nucleoplasm
cytoplasm

protoplasm
Endoplasmic reticulum

Fausflb@D, 2 LamHelhSWenLCw  smewrL(LwD

GULDEULDLILITETT GWIT(H6IT

1.
2.
3.

Bupsefl@uwim 9emmerod
em&F GLm LermeroLb
yGomGLm LermmeroLd

6TeoTGLIT LNermmenois  euemevLILN63T6oT6D

Goiter is a disease associated with

1.

2.
3.
4

Adrenal gland
Pituitary gland
Thyroid gland

Pancreas

WP6ST SH(DS5GHIS Spemev Cumi BH5CT(B \SITLITLEDLWIS)

=

L

Al feored &L
Meupref sood
OSIMUG &I

S6M600TWLILD



123.

124.

If the force is applied on the objects in the direction of its
motion, the speed

l.
2.
3.
4.

increases
decreases
remains same

becomes zero

QM 6OMBST QUHIGD HCH Demguled, ewmberfledr
531 eflems SieflEsILLLT0 DHgeiT Geussld

1.
2.
3.
4.

P sifleELD
SEOOWLD
i85 Beweoulled (H&ESLD/DMHOLSHSHSME)

L2 WILDMTGLD

The plan to save the Ganga river, called the ‘Ganga action
plan’ was launched in the year

1.
2.
3.
4.

1965
1975
1985
1995

SMHws HHMW STLULMDM CHESTETETULLL L L LDT6sT
‘BHIMS OFWEOSH LD OSMLRISLILLL Ohetor®

1.

Ll

1965
1975
1985
1995



125.

126.

The process by which heat is transformed from hotter end to
colder end in solids is

1. combustion
2. convection

3. conduction

4. radiation

@M SLueunmefled sLnen  wewesuledmbg  Gerfling
PEMETTSHE GULILILD DMMHDLILIGLD EIFUIEOLPEmD

1. errflg60

2 QULILIE F606UTLD
3. QQULILIS SLES60
4

QeuliLg sdielga:

The vascular tissues that transport substances in plants

1. xylem, phloem

2. xylem, plasma

3. phloem, root hairs
4. root hairs, xylem

snaugsdeo  CUNsGaISSNHS LWeTUGD SFMHNISESLPTUI
BFHSHET

1. 6MFEOLD, HLGEITILD
2. 6m&eoLD, LiermmeroLDim
3. SoLJ@ermmuid, Geurt Feflgei

4. Geulr gefl&eT, ewFeOLD



127.

128.

A freely suspended bar magnet always comes to rest in the
direction of

l.
2.
3.
4.

North - South
East - West
East - South
West - North

SETEllFmEWTS  OFHMHIGLD FLLSMHSD  ETLOLIMLDGILD
8bg Imsuled Quia| BEme&EE 6uHLD

1.
2.
3.
4.

LSS - NS
Spss - Cwne
BP&EG - OBNG
GLHG - QLSS

Natural calamities, poverty, unemployment are basic reasons

for
1.
2.
3.
4.

Agriculture
Education
Migration

Production

Sumems CurflLiser, emen, GeuemeveumiLifesTenLd
SpBWUDMMSTEOT SHIQLILIDL  SITTETOIEIS6IT

1.

Ll

efeugmuLd
&6061
SLID QLIWITEH60

2 HUSS



129.

130.

Skull, rib cage, back bone are the main parts of
1. Digestive system

2. Respiratory system

3. Nervous system

4. Skeletal system

evoremLGIT®,  6fleom  eTQIDLISFNB,  (PSHIEISHEYILDL]
GuetTDEmEN BHS LDEWILEOSH6ET (LPSHBU LITSHIS6IT

1. 6\FflomesT  LDEBOTL6VLD
2. &6UME LDEDUTL 60LD
3. IBIJLDL| LD6VOTL 60LD
4.  eTeY|LDL| LD6VOTL6VLD

My mother has a brother whose daughter is Sanjana. Sanjana
is my mother’s

1. sister

2. aunt

3. daughter
4. niece

6165  IDNeYHS — Q(H FGHNFI6T  HSHSMIT.
OleUHEDLW  LDSHET  FEHTEOIT  eT6vfled  FEhFeuIT 66T
Sibwreflih&

1. FQaaifl
2 NSNS
3. LD&6IT

4 LD(HLDS6IT



131.

132.

The primary means of transport in desert

1. sledge

2. camel

3. boat

4. rope way

LITen6V6UatTSH60 CLITEGOUTSHISHES (LPSHETTEMLDIITEITS)
1. uesllFsmise euetory

2. QLLSLD

3. UL

4. sulbmII LIMens

“If you land on a snake, do not frown. In this game, you go up
and down”. Name this game.

ludo

chess

snake and ladder

el

carroms
‘B umbewu SewLwjb  Gumgy LWILLTGS.  BBS

6lEmETWILIe6D 67|60 LDHMILD BOhIGHE0
W&ESTSNIevoTD @hs 6MNeMeTWITLIQEN GWLIWIT

1. aurGLm

2. FIIMRISLD

3. UMDY DMHMID  e76v0fl[UTDLISLD)
4, @& ILD61



133. This is a renewable resource
1. Coal

2. Petroleum

3. Natural Gas

4. Solar Energy

85 Ugless galpul 6eTDMGLD
1. Beo&aifl

2 WL GrmeSlwLd

3. Suibems erfleumuy
4

&iflw SpHmed

134. The country that celebrates Christmas in summer is

1. Australia
2. America
3. France

4. China

GamemL &MeV5HEL SNevGID6L SHTETTLTGL HITH
1. SpervdGedlwim

2 Siepifissm
3. gmedrero
4

Seorrm



135. Devagiri was the capital city of

136.

1. Hoyasalas

2. Yadavas

3. Pandyas

4. Cholas

Coadll Seasefen SmEBEILTS SHHSS!
1. GanMUIFTEOMSH6IT

2 WIMGEUTSHEIT

3. LIT6TOTIQUIITES 61T

4 Gampri&eiT

Every person has a fundamental right to be defended himself
by a lawyer as per this article

1.

2.
3.

4

Article-23

Article-22
Article-24
Article-28

Qa0 flefletiue, 6@H EUPSBMIEHT ELPEVLD
ST FHTEEU LIMGISHTSHGISH CSTETEBHLD SHQLILIeHL
2 flemd @euneuT(H BLIHSHSD 2 _6iTens).

1
2
3.
4

23 augl srLLfley
22 aug sULULIMey
24 eug sULUfey
28 eug sULLfley



137. The most common way to purify water is
1. Cooling

Freezing
Melting
Boiling
6O HMULIEDDWNSGSD LGS FNSHMI6soT LPemm
Serfleflgge0
2 mDWEF E\FUISHED

2 ((HEHF E1FUISHE0

Ll S

OBMTHEHS EMEIHSH60

138. He proposed ‘objective resolution’ in the inaugural session of
Constituent Assembly

1. Jawaharlal Nehru

2. B.R. Ambedkar

3. Sardar Vallabhbhai Patel

4. H.C. Mukharjee

SrIu JHpdwed Biiewrl FeoLuledt \GML&HES &IT6v
galLgHe0 ‘Grnssmiseafle STDTengens wLpest
QWpmLPIBSeurT

1. geuamiieonsd Grbh

2 B.R. SIbBussIT

3. SGMT eusdsoLILIMLI LI GL6D

4

H.C. wpsigd



139. Bheemunipatnam municipality was established in this year
Speslluigend BeEIMd OSMLAISILLL p6001®

1.

2
3.
4

1881

1871
1891
1861

140. This is not a common method to conserve land resources

l. Afforestation

2. Land reclamation

3. Use of Chemical fertilizers

4. Checks on over grazing

1B60 QuENMMRIGENOT LITGHISTLILGHSTE 6IDM (LPeDM
Si6060MSF)

1 STBSHEWET CUETITHSH60

2 Beog Geaifiliy

3. Geud 2 _JrhisHemsT LIL6ITLIBESS60

4 SMeOHEMLS6l6 iPs GiILileneor
&L BLILBSS|S60

141. Akbar built ‘Ibadat Khana’ for
1.

B

Rest

Military training
Minting
Worship

SNSUT ‘@UNSHS ST 6meY RSHMSHMSH SHLIQEDTIT.

1
2
3.
4

PUIOEUBES6D
Sunegieus Lulhe
IBITETOTIL!  HESFIQLIL|
eudlun®



142. “Bigha” means

1. A unit of measurement of land

2 A unit of measurement of labour
3. A unit of measurement of revenue
4 A unit of measurement of crops

‘B eredTLIZ)

1 Beosens SlaTeflBD e
2 2 emipliewl DemefiBLD HOS
3. aUHEUTEDW HeTefi(BLD HVS
4 Lulrsemer Hemefl(BLD D60

143. The first Indian female Doctor was
1. Kadambini Ganguli

2. Bachendripaul

3. Anandibai Joshi

4. Savithribai phule

SiIwinefledt (PGS0 6IIETIT LDIHSGI6UIT

1. &nsLoLiemfl &Mmi@edl
us@ampdifiLimed

2
3. SperibIUML Czzmex)
4 gneflgHiumi uyGeo



144. Identify the mis matched pair

145.

1. Prakasam Barrage - River Krishna

2. Dowleswaram Barrage -  River Godavari
3. Somasila Project-River Penna

4. Nagarjuna Sagar-River Kaveri

SEUDITET  QEDETTENILIS SH600TLMILISYLD.

1. LNTSTEID SHeWevor - SHIHEQETTT )

2 S6uGaeivaurd Slewevor - Gangmeutl BB

3. GsMple0n SHeWETMSSLLLD - 6IIETITEWETT [HS
4

Br&MTegstt Fnait - &nGeufl B

In the present formative assessment weightage table 40% of
marks are allotted to

1. participation and responses of children
2. written work of children

3. project works

4. slip test

SHBLITemSWI 2 _([HeUNHS LDBLNSL 16T 25556
Sl Leuemevoruied 40% LDSLIEILI6TOTSH 61T B5H&
Q8IHSLILILBeTerTeot

1. GPHmssefler LmGSML WHMID LIHeosel

2. SLPHemSs6rfl6sr erLpsgILILIeu

3. QFWEPIL  Lisvoflgei

4. dm Caiey



146. Teaching and learning should be

1. school centric

2. teacher centric

3. student centric

4, class centric

&DLI5560 HMID SHHMed Pewaumn SH&Hs GeuetorBLD
1. ueerflemwl emDWILDTS 61&Tevor(®

2. OpFAfllweny emLDWIDTS 6\&M6uor(®

3. LDITETOTEUT&HEMET 6WLDWILDITS 6)&M6v0T(B

4, EUGLILIEDMENU! 6MLDUILDITES 6\ST6voT(®

147. “Science is a quantity of knowledge which makes us learn
how we should be.” This definition was given by

1. Albert Einstein

2. A.W. Green

3. Carl Pearson

4. Robert Mach Arthur
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148. “Social Science is the study of the Inter Relationship of
Historical, Geographical and social subjects’ defined by

1.

B

[

J.V. Michaels

James Hemmings
Kothari Commission
National Educational Council
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149. Identify the false statement regarding ‘Dramatisation’

1.

Role players should be chosen carefully

2. The classroom should be considered as a stage

3. The script should be prepared in advance

4. The teacher should control the performance
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150. The total marks allotted to project work in the Formative
Assessment is

1. 10 marks
2. 15 marks
3. 5 marks

4, 20 marks
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